SNS College of Technology

16EC201 - Signals & Systems/Unit II

Scanned by Camscanner



$$\frac{1}{(S+2)(S+1)} = \frac{-1}{S+2} + \frac{1}{S+1}$$

$$= (-1) L^{-1} \left(\frac{1}{S+2}\right) + (0) L^{-1} \left(\frac{1}{S+1}\right)$$

$$x(+) = -e^{-2t} u(+) + e^{t} u(+)$$
Roc: $-2 < R_{0}(S) < -1$

$$R_{0}(S) > -2, R_{0}(S) < -1$$

$$Sc(+) = \left[e^{-2t} u(+)\right] + \left[e^{-t} u(+)\right]$$
(*)
$$Roc: (t) -2 > R_{0}(S) > -4$$

$$(5+2)(S+4) \qquad (t) R_{0}(S) < -4$$

$$\frac{4}{(S+2)(S+4)} = \frac{4}{S+2} + \frac{8}{S+4}$$

$$4 = R (S+4) + 8 (S+2)$$

$$Uhen S = -4 \qquad uhen S = -2$$

$$4 = -28 \qquad 4 = 2R$$

$$R = 2R$$

$$R = 2 L^{-1} \left(\frac{1}{S+2}\right) - 2 L^{-1} \left(\frac{1}{S+4}\right)$$

$$x(+) = 2 e^{-2t} u(+) - 2 e^{-4t} u(+)$$

SNS College of Technology

16EC201 - Signals & Systems/Unit II

Scanned by Camscanner

$$\frac{-3}{(s+2)(s-1)} = \frac{A}{s+2} + \frac{B}{s-1}$$

$$-3 = A(s-1) + B(s+2)$$
when $s=1$ when $s=-2$

$$-3 = 3B$$

$$-3 = -3A$$

$$B = 1$$

$$x(s) = \frac{1}{s+2} + \frac{1}{s+1}$$

$$= L^{-1}\left(\frac{1}{s+2}\right) + L^{-1}\left(\frac{1}{s+1}\right)$$

$$x(t) = e^{2t}u(t) + e^{-t}u(t)$$
(i) $R_{e}(s) > 1$

$$x(t) = e^{-2t}u(t) - e^{-t}u(-t)$$
(ii) $R_{e}(s) < -2$

$$x(t) = e^{-2t}u(t) - e^{-t}u(-t)$$
(iii) $R_{e}(s) < -2$

$$x(t) = e^{-2t}u(t) - e^{-t}u(-t)$$

$$5) \times (S) = \frac{-3}{(S+2)(S-1)}$$

x(t) =

$$(f) \stackrel{HW}{=} X(S) = \frac{3S+7}{S^2-2S-3} (i) R_{e}(S) > 3 (ii) R_{e}(S) < -1$$

$$S^2-2S-3 (iii) -1 < R_{e}(S) < 3$$

$$x(t) = [2e^{-4t} u(t)] + [2e^{-2t} u(-t)]$$

-2 > Re (5) 7-4 Ro C:



ut)

SNS College of Technology 16EC201 - Signals & Systems/Unit II Scanned by Camscanner